15°) Z(%: Ne 4pn = N (1=4P)
0= 2oN=-3p = P(aN-3)
a) N(=4P)=0— N=0 ok Pzl ..g
L PlaN-3)=0 — P=0 ok N=3% . duu
L Nze el Pmo — (6,0) lasgridibiie
I &%wdﬂhaa<%@@ﬁw%%AM

bJe) dov £y 0)= || — Tt

l-4P — 4N |
D20 = |00 ] e

DE2A)= [ T =A —

G e e R B T SR

Yo, o—h




/ R
Co/oj AL M/AA\M&W]
Seter. Sz
4P -:A;; 2PN—3P P(aN~3)
lan T Tan N — PN N(1—«P)
A~

AN
(TO’” 44) AP g@——' A/\/ —

(ﬂmp qp = :</U—-—3MA/+<’]

féj% =GN—PN = N (5-P)
o (E=ew-p = p(n-1)

q) (oo)MC(ﬁjwMM

gélo') ot £(V,P) = [%——%J-’

DR, P) = [i"o A:‘f] | A

f; DL (o 0) = [ > _f] = A —




(=) Cla)=0 2 0Ts

(oo/ o rerngtotblo M@J‘W’m
e ) D»F(l/fj: LS_ O} - A —

—A =
dok(A-AT) = ot [° 2 "L TSGR seo

.L__y/\l:-fg_»)&; :I;FJ.A,\ rc' As=—Usy¢ -
J
MQ,Q_/

7%4 :
W Wm

~*x%@4xa&ﬂi§ % (,5) .

dt
dP _ o
al

M@t AT)_M[&-A oj

M

ok PV-l) N=
AT T TN(=0) ‘%g 0 Cap - S/\/ W

——

@i )AP §(~~j&w

=[S f=F < M= M +C ]

|




e

L{/\/ —

FR




4. %’:/.:3/\/@'% - aPN
gﬁz PN— 4P
iScediryla
= aN(-f) et NE)= 9
di - 3N (lo-n) —
ity 4= SR
3 .}é\._tho%N]"kN = el =

(ACe-N)+BN= 1 ;
It~ Nz O - IOA:-L—’ACI/IOJ
Ik N=t1o: (6B=1 = R= Y, ) 7

Loy e Tav = & ~
S[V+ lo—N AN = /oILjLC/

| lo=N) = 3 o
LgnN= g jo=N) = Gt w0
AnN= fallo=N) = 3¢+ C —

Inflig) = s+ —

%CN) 3t + C C
16-NJ = ¢ =L
€

3E
3
= (Ce \6_—)




:CQ/ a,w,&_t— N C"“’}

2 -ce=cl)=C— C=T —

N - qe” — N= ?OC——CZNC? —

g are €
= oo ;7%}(
b.) -;j-f- ON— 4P = P(N-4)= O —







= (3-A)4=p) =0 — A=3 A=
4y (00 Lo omitnble spilidrim
Fon (10,0): A= { '“"20]._3

dok (A—4T) = d=t [~3,/\ «-;zo]

o C— A
= (3-A)(6=A)=0 = A =6, A=~

(lo,0) ~2 gt ble L?»«J/@JM
CMA'GO—/Q—Q/)

o ) <[ F]—

dok (A=AT ) = dot| 795 e

246 36 4 — 2 _
A +Ld + 220 = pTHbAr3C=0—

—6 £ Y36-4(5)3¢) —cte-q
(G N o —




